Name Ms. Abadie’s Period
Chapter 4 Inequalities- a mathematical sentence that compares expressions.
Inequality Symbols
Symbol < > < >
e isless s isgreater | e isless than or ® is greater than
Key than than equal to or equal to
Phrases | o isfewer | eismore | e isatmost e is at least
than than e isnomore than | e isnolessthan
MAFS.7.EE.2.4 | Use variables to represent quantities in a real-world or mathematical problem, and
construct simple inequalities to solve problems by reasoning about the quantities.
Essential What are inequalities and how can you represent solutions of an inequality on a
Question number line?

In this lesson, | am writing and graphing inequalities so | can interpret the solutions of
inequalities.

4.1 Writing and

Solution of an inequality- a value or values that make the inequality true.

Graphing
Inequalities | Solution set- is the set or group of all solutions.
The graph of an inequality shows all the solutions of the inequality on a number line.
An open circle is used for less than or greater than symbols which do not include
that number. A closed circle is used for less than or equal to and greater than or
equal to which do include that number.
Homework Tetta il P .
arprasions | Write the word sentence as an inequality. .
#3-6 1. Anumber xisatmost —10. 2. Twice anumber y is more than -5
— -9
X =-10 Qu T
s}
HomeV\(ork
Al pmacice A | Tell whether ~5 is a solution of the inequality.
#14-18 3. x+12>7 4. 1-2p<—9 5. n+25>-3
(3)+1a> "] -2 9 (95)+1%=-3
7 > 1+10 = -9 -QA="3
not G & -9 Teue!
Solution not & ol o
Solukion Solu o N |




Homework
4.1 Practice A
#1112

Graph the inequality on a number line.
6. x<—1 7. z24 8. s<14 9. ——<«t

L +>%

&o+—> 4o

-14 O 1M 2 0%
Tell whether the given value is a solution of the inequality.
j+1>10;j =9 —3s§;k=—1
q +\ > , 0 — 3 Z —__l_
0 >10 T A
NoY A Trua!
Solukion -1 is o Soluxon !

Write the word sentence as an inequality.

A number 7 is no less than —3.
NnN=-72
A number g plus 7 is less than 45.

g+ 1 < 45

A number x divided by —1 is at least —4.

>~ -4

——‘ -

The children in the class are more than 10 years old.

e, > 10

The minimum cost for parking is $3.

cC=25

Write an inequality for the graph.

s e X .-\
-2 -1 0 1 2 >

e ————+— Xé-—&




MAFS.7.EE.2.4

Solve word problems leading to inequalities of the form px+q>rorpx+q<r,
where p, g, and r are specific rational numbers. Graph the solution set of the
inequality and interpret it in the context of the problem

Essential How can you use addition or subtraction to solve an inequality?
Question In this lesson, / will use what | know about solving equations and the addition/subtraction
properties of equality so | can solve inequalities.
2.2 Solving | The Addition Property of Equality: when you add the same number to both sides of
Inequalities | an inequality, the inequality remains true.
using Addition

or Subtraction

The Subtraction Property of Equality: when you subtract the same number to both
sides of an inequality, the inequality remains true. =

Homework
42Practice A | Solve the inequality. Graph the solution.
1. y—p3 -7 2. b-38<17 32 L1,V
AN Ay 1, 2] A
Y >\ b 25.5 5| /4
1 >Z
<
Homework

4.2 Practice A
#1-8




Write and solve an inequality that represents the value of x.

The perimeter is more than 15 feet.
7{
i AxX + I/J 1D
| 5 ft -/10 —10
X >SS
L
K=d.S

5

An elevator can carry 800 pounds of weight.
a. A student weighing 95 pounds gets on the elevator. Write and solve an inequality to

represent the remaining weight that can be Elddedl'
az + X £ 00
15 . 935
X £ 1085

b. A football player weighing 280 pounds gets on the elevator with the student. Write
and solve an inequality representing the remaining weight that can be added.

2005+ ¥ £ %O
~340 230 .

X 4 530

c. Two more football players weighing a total of 470 pounds come to the elevator.

Can they get on safely? Explain.

Yes, 470 s =320

&
-




MAFS.7.EE.2.4

Solve word problems leading to inequalities of the form px+qg>rorpx+q <r,
where p, q, and r are specific rational numbers. Graph the solution set of the
inequality and interpret it in the context of the problem

Essential How can you use multiplication or division to solve an .inequality?
Question In this lesson, / will use what | know about solving equations and the multiplication/division
properties of equality so | can solve inequalities.
4.3 Solving | The Multiplication Property of Equality: when you multiply the same number to both
Equations | sides of an inequality, the inequality remains true.
using

Multiplication
and Division

The Division Property of Equality: when you divide the same number to both sides
of an inequality, the inequality remains true.

***\When you multiply or divide both sides of an inequality by a negative number, the
inequality sign must be reversed or flipped for the inequality to remain true.

&";‘,‘:ﬁg& Solve the inequality. Graph the solution.
#1-6 ( ) D)
1. ne4d1 —05< w/() 3.

3 | *3 Ca.

N C'E 3 -5 £m
M =-9 -a

2 2P
Homework

4.3 Practice A
#10-15




Solve the inequality. Graph the solution.

?%;» -4 (-3)

-2 O 1 o |
1258 (5 (& 2y o
9@) _ll_z_ 22m ’EZ) m{%)—ghs _'s_ ._7_?_ )
& =m > &
-10 =™ n>a
M =-10 O
< )
6 6 10 20 O Ad
11. Z <35 12, 2a > -9
5% Sy
> - a
Z > A< 3
é@ga\% é—\—ﬁlﬁa@ﬁ%
-1 0 N -3 0 T
13, —-15«™ 14 —-42 2 —-0.7w
—?—)— % -—.—) ’-o;'\
-5 <N b 4w
N > e = Co
Lyt N
—-5 O oS {é é g%‘
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MAFS.7.EE.2.4 ~M.S"olve word problems leading to inequalities of the formpx +g>rorpx+q<r,
where p, g, and r are specific rational numbers. Graph the solution set of the
inequality and interpret it in the context of the problem

Essential How can you solve a two-step inequality using what you have already learned?
Question In this lesson, / will use properties of equality so | can solve two-step inequalties.
4.4 Solving
Two-step
. liti v . . A .
Inequalities Solve the i nequahty. Gr:aph the solution.
Homework ) . w
3.4 Practice A 1. 6y- 5 2. A-3d>19 3. —+8P9
#1-4 7 Y -4 —4/%|-3
\
T\ RIS @L)_\T:F \Cu)
V) =R -3 =
W > A d<-S w< -4
Jomework | gojve the inequality. Graph the solution.
#6-9

~3<0.5(8 + )

4. 2(k—5)<6 5. —4(n—10) <32 6.

2k ;'/.gﬁ% _ —Lln%ﬁao

Qerlle T AngE
(<% %

Solve the inequality.

8. m+ -4 9. 6y > 8
A& ©
- S
ma -b Y>3
10. p + 5/ -3 1. 4z[73/ -1 12. 6 > 3(r + 2
v ) 343

(@
T oFE
2>\ T3
ol AN, 4+ N
L # L



Solve the inequality. Graph the solution.

1_3.#/'-‘(1 +x T.Fl“'

14. 2 < —=

',D>_‘_ﬁ =
U 1O -10 O |O

15. 3(x + 4) 2

e
ig_(>§ —— M

Write and solve an inequality that represents the value of x.

16. The area is no more than 40 square feet.

on o a0x
T TS
| fOx £ 4O

20§t
X <4

17. A freezer is set to turn on and start cooling if the temperature rises above -10°
Celsius. The cooling turns off when the freezer has reached a temperature of -16°

Ce!sius. | ) o X > "ID

Wirite two inequalities to model the situation.

Give a sample value at which the cooling would turn on, and a sample value at

which the cooling would be off. . Ol ) . \,—]

At her job, Jessie earns $9.50 per hour. She also earns a $60 bonus every month,

Jessie needs to earn at least $460 every month,
Create an inequality that represents this situation, where h represents the number of hours that Jessie works in a

month in order to earn at least $460. q 60 h + LOO -—>— Lfl (DO




